¥36% F20H it E Ml I ## 2010 10 A

Vol.36  No.20 Computer Engineering October 2010
s FEMRSEITHEA - XEHS: 1000—3428(2010)20—0268—04  SCERARIAED: A hESEE, TP30L
123 12 12 12
(1. 200050 2. 200050
3. 100039)
(DOA) e DOA DOA
X 2 DOA 2 DOA
DOA 2

Improved Satellite Space-time DOA Matrix Algorithm
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Abstract Based on the space-time eigenstructure of signals, an improved space-time Direction Of Arrival(DOA) estimation matrix method is
proposed to estimate the high-resolution 2-D DOA of narrowband signals. The method obtains two DOA matrices through creating another sub array,
which is the primary sub array shifted down X axes. Because these two matrices are different in angle ambiguity curves, the method can get accurate
DOA; therefore advantages of the traditional space-time DOA matrix method, such as automatic parameter alignment and no need of 2-D search, are
still available. Simulation results show that the method is effective.
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